FNH3FEM

FNHFE

< s
FNH3FEM < YSTIFE FNH2SFEA £
FNH23FEA W + ©
MST1FE 213 1
@0.51

ATENGAO:

- Desconecte da rede elétricaantes de proceder qualquer
trabalho neste equipamento.

- Somente profissionais qualificados podem  efetuar a
instalagéo e manutengao.

- Obedecer normas  nacionais, estaduais, locais e
instrugdes de operagéo.

[ PHILLIPS #2
0,5N.m - 4.4lb.in

WARNING:
-Installation and maintenance to be performed by
authorized personnel only.

-User is cautioned to observe all recommendations,
warnings and cautions relating to safety of personnel and
equipment as well as general and local health and safety
laws, codes and procedures.

ATENCION:

- Desconectar de la red eléctrica antes de hacer cualquier
trabajo en esto equipamiento.

86
3.36

por i lificado.

-Respetar normas nacionales y locales.

-Producto destinado a utilizacion en instalaciones

eléctricas de baja tension.

WARNUNG:

- Bevor irgend eine Arbeit am Gerat vorgenommen wird,

muss sichergestellt sein, dass die Einheit stromlos und

freigeschaltetist.

- Simtliche Arbeiten an der Einheit dirfen daher
nur von

werden.
- Die jeweils geltenden nationalen, értlichen und
if i ind

zuberiicksichtigen.

FNH3FEM

MS11FE




: HEX NUT M12
| 46N.m - 407.1lb.in |

46N.m - 407.1lb.in

0.47..0.51

METRIC STUD M12 1

HEX SCREW M12 |
46N.m - 407.1lb.in |

035..0.47

HEX SCREW M12 |
46N.m - 407.1lb.in |

MS11FE|
g ‘
250Vac
S0/60nz| 8Vde | 30vdc | 125Vde | 250vde
I AW 15 15 10 06 03
n
LWL | 100 | 10t | 10t | 06 | 03
*PF204

**L/R<Tms

1C,

2NC 4NO

10002613784.00
WEG Automagéo
www.weg.net




	Página 2
	Página 3

